Table 5.1 St. Thomas Campus Division of Business Administration Undergraduate Course Enrollment and Credit Hours by Campus: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
ACC 121	Introduction to Accounting I	2	117	59	3	351
ACC 122	Introduction to Accounting II	2	97	49	3	291
ACC 221	Intermediate Accounting	1	45	45	3	135
ACC 222	Intermediate Accounting	1	14	14	3	42
ACC 230	Government Accounting	1	18	18	3	54
ACC 253	Tax Accounting	1	30	30	3	90
ACC 440	Cost Accounting I	1	56	56	3	168
ACC 443	Advanced Accounting	1	29	29	3	87
BUS 112	Introduction to Business	2	113	57	3	339
BUS 213	Small Business Management	1	28	28	3	84
BUS 224	Business Communication	2	84	42	3	252
BUS 231	Principles of Marketing	2	73	37	3	219
BUS 234	Advertising & Prom Strategy	1	43	43	3	129
BUS 241	Principles of Management	2	64	32	3	192
BUS 242	Personnel Management	2	54	27	3	162
BUS 251	Business Law	1	38	38	3	114
BUS 321	Fundamentals of Finance	2	116	58	3	348
BUS 323	Investment Analysis	1	2	2	3	6
BUS 324	Financial Markets & Institutions	1	14	14	3	42
BUS 325	Statistics for Management Decisions	2	55	28	3	165
BUS 330	Production/Operation Management	2	107	54	3	321
BUS 336	Labor Management Relations	1	58	58	3	174
BUS 434	Public Policy Toward Business	1	48	48	3	144
BUS 436	Business Strategy	1	32	32	3	96
BUS 474	Professional Development Seminar	1	34	34	1	34
BUS 475	Undergraduate Internship in Business	1	34	34	2	68

Table 5.1 St. Thomas Campus Division of Business Administration Undergraduate Course Enrollment and Credit Hours by Campus: Fall 1999 (Continued)

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
	P					
CIS 021	Computers Skills	1	34	34	3	102
CIS 101	Business Software Applications	3	75	25	3	225
CIS 121	Data Management Concept	1	18	18	3	54
CIS 210	Micro Computer Business Software	2	34	17	3	102
CIS 270	Computer Systems Development	1	12	12	3	36
CIS 310	Advance Databases & Spreadsheets	1	20	20	3	60
CIS 357	Business Information Networks	1	31	31	3	93
		Ī				
HRM 132	Fundamentals of Tourism	1	20	20	2	40
HRM 133	Introduction to Resort Hotel Man.	1	10	10	3	30
ALL		48	1,657	35		4,849

Table 5.2 St. Thomas Campus Division of Education Undergraduate Course Enrollment and Credit Hours: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
EDU 113	Patterns of Child Development	1	32	32	3	96
EDU 114	Development Environment Children	1	32	32	3	96
EDU 193	Linguistic Analysis of Sign Language	1	20	20	4	80
EDU 218	Practicum in Designing & Implementing Inclusionary Early Childhood Programs	1	28	28	3	84
EDU 221	Foundations of Education	1	32	32	3	96
EDU 230	Educational Psychology	1	24	24	3	72
EDU 250	Curriculum, Development & Instruction	1	41	41	3	123
EDU 257	Mathematics & The Elem. Teacher	1	26	26	3	78
EDU 350	Instructional Design and Technology	1	23	23	2	46
EDU 351	Classroom Management	1	49	49	2	98
EDU 354	Teaching the Language Arts II	1	21	21	3	63
EDU 358	Curriculum Design in a Technological World	1	46	46	4	184
EDU 450	Measurement and Evaluation In Education	1	22	22	2	44
EDU 452	Student Teaching in the Elementary School	1	12	12	9	108
EDU 469	Student Teaching in the Secondary School	1	2	2	6	12
EDU 497	Seminar In Secondary Teaching	1 	2	2	2	4
PED 111	Freshman Physical Education and Health	9	207	23	0.5	104
PED 113	Cardiopulmonary Resuscitation	2	62	31	0.5	31
PED 211	Sophomore Physical Education and Health	7	179	26	0.5	90
PLS 200	Self-Management: Wellness	2	49	25	2	98
ALL		36	909	25		1,508

Table 5.3 St. Thomas Division of Humanities Undergraduate Course Enrollment and Credit Hours By Campus: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
ART 125	Survey of World Art	1	45	45	3	135
ART 123	Basic Drawing	l <sup>1</sup> l 1	22	22	2	44
AICI 120	Basic Brawing		22	22	۵	77
COM 101	Intro. To Oral & Written Comm. I	4	145	36.3	3	435
COM 102	Intro. To Oral & Written Comm. II	4	122	31	3	366
ENG 031	Essay Writing Review	1	14	14	3	42
ENG 100	Writing across the Curriculum	9	340	38	1	340
ENG 101	Reading in Content Areas	7	307	44	1	307
ENG 111	English Composition I	1	40	40	3	120
ENG 112	English Composition II	1	48	48	3	144
ENG 261	World Literature I	4	115	29	3	345
ENG 262	World Literature II	2	48	24	3	144
ENG 343	Language Theory	1	23	23	3	69
ENG 361	American Literature	1	17	17	3	51
ENG 363	Major American Writing	1	49	49	3	147
ENG 466	African Literature	1	37	37	3	111
FDS 100	Freshman Development Seminar	6	295	49	1	295
FRE 131	Functional Elementary French I	1	46	46	4	184
FRE 132	Functional Elementary French II	1	8	8	4	32
FRE 221	Intermediate French I	1	10	10	3	30
FRE 222	Intermediate French II	1	10	10	3	30
HUM 115	Humanities Overture	]   1	33	33	3	99
HUM 497	Senior Humanities Seminar I	1	10	10	1	10
	2	•	10	10		10
JOU 101	Introduction to Mass Media	1	12	12	3	36
JOU 203	Basic Reporting & News-writing	1	4	4	4	16
JOU 303	Advanced Reporting & News-writing	1	1	1	3	3

Table 5.3 St. Thomas Division of Humanities Undergraduate Course Enrollment and Credit Hours By Campus: Fall 1999 (Continued)

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
MUE 311	Conducting Tachniques	1	0	8	3	24
MUE 311 MUE 321	Conducting Techniques Brass & Percussion Methods	1 1	8 10	8 10	2	20
MUE 321 MUE 411			6	6	3	18
MUE 411	Teaching Music Secondary School	1	0	O	3	10
MUS 101	Sight Singing/Ear Training	1	12	12	1	12
MUS 103	Music Theory I	1	8	8	3	24
MUS 124	Introduction to Music	2	63	32	3	189
MUS 132	Concert Band	1	12	12	1	12
MUS 133	Jazz Ensemble	1	10	10	1	10
MUS 134	Steel Band Ensemble	1	28	28	1	28
MUS 161	Applied Music-Voice	4	16	4	1	16
MUS 162	Applied Music – Voice	2	6	3	1	6
MUS 173	Secondary Piano I	1	3	3	1	3
MUS 175	Secondary Voice I	1	3	3	1	3
MUS 176	Secondary Voice II	1	4	4	1	4
MUS 183	Class Voice I	1	13	13	1	13
MUS 201	Music Theory III	1	4	4	3	12
MUS 206	Music History and Literature I	1	6	6	3	18
MUS 242	Concert Choir	1	32	32	1	32
MUS 261	Applied Music – Reeds	2	8	4	1	8
MUS 262	Applied Music-Brass	2	4	2	1	4
MUS 273	Secondary Piano III	1	2	2	1	2
MUS 274	Secondary Piano IV	1	2	2	1	2
MUS 275	Secondary Voice III	1	4	4	1	4
MUS 361	Applied Music-Piano	2	9	5	1	9
MUS 362	Applied Music-Piano	1	2	2	1	2
MUS 461	Applied Music-Piano	1	2	2	1	2
MUS 462	Applied Music-Brass	2	3	1.5	1	3
PHI 231	Intro to Epistemology and Logic	1	55	55	3	165
PHI 232	Metaphysics & Human Values	2	88	44	3	264

Table 5.3 St. Thomas Campus Division of Humanities Undergraduate Course Enrollment and Credit Hours: Fall 1999 (Continued)

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
RCA 021	Reading In the Content Areas	7	309	44	3	927
SPA 122	Elementary Spanish II	2	36	18	4	144
SPA 131	Functional Elementary Spanish I	5	158	32	3	474
SPA 132	Functional Elementary Spanish II	3	77	26	3	231
SPA 221	Intermediate Spanish I	4	140	35	3	420
SPA 222	Intermediate Spanish II	3	135	45	3	405
SPE 115	Interpersonal Communication	3	99	33	3	297
SPE 116	Group Dynamics & Public Speaking	3	136	45	3	408
SPE 223	Conference Techniques	1	23	23	3	69
THE 110	Introduction to Theatre	1	42	42	3	126
THE 211	Theatre Production	1	3	3	1	3
THE 212	Theatre Production	1	3	3	1	3
THE 213	Theatre Production	1	6	6	1	6
WAC 011	Writing Across the Curriculum	9	342	38	3	1026
ALL		137	3,733	27		8,983

Table 5.4 St. Thomas Campus Division of Nursing Education Undergraduate Course Enrollment and Credit Hours: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
NUR 207	Human Nutrition	1	39	39	2	78
NUR 208	Fundamentals of Nursing	3	56	19	6	336
NUR 209	Health Assessment	2	52	26	2	104
NUR 308	Nursing Roles in Adult Care I	2	37	19	5	185
NUR 318	Nursing Roles in Mental Health	3	20	7	5	100
NUR 417	Nursing Role in Adult Care III	2	28	14	6	168
NUR 419	Nursing Research	1	27	27	3	81
	İ	j				Ī
ALL		14	259	19		1,052

Table 5.5 St. Thomas Campus Division of Science and Mathematics Undergraduate Course Enrollment and Credit Hours: Fall 1999

		Number	m . 1		Credits	Total
Course	Course Description	of Sections	Total Enrollment	Average Enrollment	per Course	Credit Hours
Course	Course Description	beetions	Linonment	Linonment	Course	IIOUIS
BIO 141	General Biology I	4	86	22	4	344
BIO 223	Ecology	1	38	38	4	152
BIO 261	Human Structure and Function I	2	48	24	4	192
BIO 301	Microbiology for Health Sciences	1	38	38	4	152
BIO 339	Vertebrate Structure	1	34	34	5	170
BIO 352	Plant Physiology	1	27	27	4	108
BIO 355	Biology of Microorganisms I	1	35	35	4	140
BIO 397	Jr. Science Seminar I	1	42	42	0.5	21
BIO 495	Directed Independent Research in	1	5	5	3.5	17.5
	Biology					
BIO 496	Internship/Field Studies	1	4	4	2.5	10
BIO 497	Senior Science Seminar I	1	43	43	1	43
CHE 111	Principles of Chemistry for Life	1	43	43	4	172
	Science I	_				
CHE 151	General Chemistry I	2	48	24	5	240
CHE 251	Quantitative Analysis	1	6	6	4	24
CHE 253	Organic Chemistry I	2	42	21	5	210
CHE 341	Physical Chemistry I	1	6	6	3	18
CHE 397	Junior Science Seminar	1	4	4	0.5	2
CHE 432	Organic Chemistry	1	6	6	4	24
CHE 495	Directed Indep. Research in Chem.	1	6	6	1	6
CHE 497	Senior Science Seminar I	1	6	6	1	6
CSC 111	Use of Computers	1	33	33	1	33
CSC 117	Introduction to Programming I	1	36	36	4	144
CSC 118	Introduction to Programming II	1	14	14	4	56
CSC 119	Computer Graphics Applications	1	44	44	1	44
CSC 239	Scientific Computer Applications	1	25	25	2	50
CSC 241	Introduction to Comp Architecture &	1	27	27	4	108
	Design					
CSC 242	Data Structures	1	16	16	4	64
CSC 317	Programming III	1	10	10	3	30
CSC 332	Database & Info. Retrieval	1	14	14	3	42

Table 5.5 St. Thomas Campus Division of Science and Mathematics Undergraduate Course Enrollment and Credit Hours: Fall 1999 (Continued)

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
GG G 002					0.7	
CSC 397	Junior CSC Seminar I	1	9	9	0.5	4.5
CSC 420	Software Engineering	1	6	6	4	24
CSC 430	Knowledge Engineering & Expert Sys.	1	2	2	3	6
CSC 497	Senior Science Seminar I	1	8	8	1	8
EGR132	Engineering Graphics	1	9	9	3	27
MAT 021	Math Skills – Arithmetic	7	202	29	4	808
MAT 022	Math Skills-Beginning Algebra	5	181	36	4	724
MAT 140	College Algebra w/applications	4	200	50	4	800
MAT 142	College Trigonometry	1	31	31	4	124
MAT 143	Pre-calculus Algebra	2	109	55	4	436
MAT 232	Calculus for Business and Social Sciences	2	53	27	4	212
MAT 233	Discrete Mathematics	1	10	10	3	30
MAT 235	Intro to Statistics with Applications	2	58	29	4	232
MAT 241	Intro to Calculus and Analytical Geometry I	1	59	59	4	236
MAT 242	Introduction to Calculus and Analytical Geometry II	1	32	32	4	128
MAT 261	Linear Algebra	1	18	18	4	72
MAT 341	Intermediate Calculus I	1	15	15	3	45
MAT 352	Math Model	1	18	18	3	54
MAT 362	Algebraic Structures	1	16	16	3	48
MAT 397	Junior Mathematics Seminar	1	8	8	0.5	4
MAT 441	Advanced Calculus I	1	13	13	3	39
MAT 497	Senior Mathematics Seminar I	1	12	12	1	12
MBI 397	Junior Science Seminar I	1	9	9	0.5	4.5
MBI 424	Marine Ecology	1	16	16	4	64
MBI 495	Directed Indep. Research in Marine Biology	1	2	2	2.5	5

Table 5.5 St. Thomas Division of Science and Mathematics Undergraduate Course Enrollment and Credit Hours by Campus: Fall 1999 (Continued)

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
MSC 111	Open Water Scientific Diving	1	11	11	1	11
NSC102	Foundations of Natural Science II	3	98	33	4	392
PHY 211	Introduction to Physics I	2	49	25	4	196
PHY 242	General Physics II	1	26	26	5	130
PHY 311	Classical Mechanics I	1	4	4	3	12
PHY 341	Mod. Physics	1	16	16	3	48
PHY 351	Modern Physics Lab	1	16	16	1	16
PHY 495	Directed Indep. Res. In Physics	1	2	2	1	2
SCI 100	The Caribbean Natural World	7	263	38	3	789
SCI 200	Changes in the Natural World	2	55	28	3	165
ALL		96	2,422	25		8,531

Table 5.6 St. Thomas Campus Division of Social Sciences Undergraduate Course Enrollment and Credit Hours: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
Course	Course Description	Sections	Linonment	Linonment	Course	110413
CAR 465	Selected Topics I	1	10	10	3	30
ECO 221	Introduction to Macro-Economic	2	85	43	3	255
ECO 222	Introduction to Micro-Economic	2	88	44	3	264
ECO 341	International Trade	1	6	6	3	18
ECO 461	Caribbean Economic Problems	1	9	9	3	27
GOG 121	Physical Geography	1	18	18	3	54
HIS 181	World Civilizations I	2	129	65	3	387
HIS 182	World Civilizations II	2	94	47	3	282
HIS 330	United States-Caribbean Relations	1	14	14	3	42
HIS 342	History of the Virgin Islands	1	57	57	3	171
LAS 115	Wills, Trust & Est. Plan	1	20	20	3	60
LAS 116	Real Property Law	1	16	16	3	48
POL 352	International Politics	1	18	18	3	54
POL 401	USVI Government & Policy	1	16	16	3	48
PSA 122	Criminal Law	1	37	37	3	111
PSY 120	General Psychology	3	125	42	3	375
PSY 122	Introductory Psychology II	1	22	22	3	66
PSY 202	Life Span Development	1	35	35	3	105

Table 5.6 St. Thomas Campus Division of Social Sciences
Undergraduate Course Enrollment and Credit Hours: Fall 1999
(Continued)

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
PSY 223	Social Psychology	1	37	37	3	111
PSY 301	History and Systems of Psychology	1	29	29	3	87
PSY 321	Childhood and Adolescence	1	24	24	3	72
PSY 323	Psychology of the Exceptional Child & Adolescent	1	33	33	3	99
PSY 431	Intro to Experimental Psychology	1	25	25	3	75
PSY 433	Intro to Counseling and Psychotherapy	1	12	12	3	36
SOC381	Contemporary Caribbean	1	26	26	3	78
SSC 100	The Caribbean: The Social Dimensions	6	254	42	3	762
SSC 327	Quantitative Research Methods	1	52	52	4	208
SSC 497	Social Science Senior Seminar I	1	53	53	1	53
SWK 334	Human Behavior and Social Environment Framework	1	7	7	3	21
ALL		39	1,341	34		3,969

Table 5.7 St. Croix Division of Business Administration Undergraduate Course Enrollment and Credit Hours by Campus: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
ACC 121	Introduction to Accounting I	2	58	29	3	174
	Ģ	2				
ACC 122	Introduction to Accounting II		48	24	3	144
ACC 221	Intermediate Accounting I	1	42	42	3	126
ACC 230	Government Accounting	1	18	18	3	54
ACC 440	Cost Accounting I	1	34	34	3	102
ACC 442	Auditing	1	38	38	3	114
BUS 112	Introduction to Business	2	92	46	3	276
BUS 213	Small Business Management	1	37	37	3	111
BUS 224	Business Communication	1	50	50	3	150
BUS 231	Principles of Marketing	2	70	35	3	210
BUS 241	Principles of Management	1	34	34	3	102
BUS 242	Personnel Management	1	58	58	3	174
BUS 251	Business Law	1	41	41	3	123
BUS 321	Fundamentals of Finance	1	58	58	3	174
BUS 325	Statistics for Management Decisions	1	22	22	3	66
BUS 330	Production/Operations Management	1	40	40	3	120
BUS 336	Labor Management Relations	1	20	20	3	60
BUS 434	Public Policy Toward Business	1	31	31	3	93
BUS 436	Business Strategy	1	14	14	3	42
BUS 474	Professional Development Seminar	1	28	28	1	28
BUS 475	Internship in Business	1	16	16	2	32

Table 5.7 St. Croix Division of Business Administration Undergraduate Course Enrollment and Credit Hours: Fall 1999 (Continued)

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
CIS 021	Computer Skills	2	53	27	2	106
CIS 101	<b>Business Software Applications</b>	3	89	30	3	267
CIS 210	Business Information Systems	2	20	10	3	60
CIS 238	Introduction to Cobol Programming	1	8	8	3	24
CIS 270	Computer Systems Development	1	5	5	3	15
CIS 300	Process Design & Evaluation	1	7	7	3	21
CIS 310	Advanced Databases & Spreadsheets	1	15	15	3	45
CIS 357	Business Information Networks	1	9	9	3	27
OFS 127	Word Processing &Type Applications	1	23	23	2	46
ALL		38	1,078	28		3,086

Table 5.8 St. Croix Campus Division of Education Undergraduate Course Enrollment and Credit Hours: Fall 1999

Commo	Course Description	Number of Sections	Total Enrollme	Average Enrollme	Credits per	Total Credit Hours
Course	Course Description	Sections	Enrollme nt	Enrollme nt	Course	Hours
EDU 113	Patterns of Child Development	1	34	34	3	102
EDU 114	Dev. Environment Children	1	34	34	3	102
EDU 193	Linguistic Analysis of Sign Lang.	1	16	16	4	64
EDU 218	Prac. Design Early Child	1	30	30	3	90
EDU 221	Foundations of Education	1	47	47	3	141
EDU 230	Educational Psychology	1	21	21	3	63
EDU 250	Curriculum Development & Instruction	1	37	37	3	111
EDU 257	Math and the Elementary Teacher	1	52	52	5	260
EDU 302	Introduction to Special Ed.	1	23	23	3	69
EDU 351	Classroom Management	1	30	30	2	60
EDU 354	Teaching the Language Arts II	1	49	49	4	196
EDU 452	Student Teaching in Elementary School	1	14	14	9	126
PED 111	Freshman Physical Education & Health	5	152	30	0.5	76
PED 113	Cardiopulmonary Resuscitation	3	80	27	0.5	40
PED 211	Sophomore Physical Education & Health	3	63	21	0.5	32
PLS 200	Self Management: Wellness & Risk	1	20	20	2	40
ALL		24	702	29		1,572

Table 5.9 St. Croix Campus Division of Humanities Undergraduate Course Enrollment and Credit Hours: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
ART 125	Survey of World Art	1	62	62	3	186
COM 101	Intro. Oral & Writing Communication I	4	190	48	3	570
COM 102	Intro. Oral & Writing Communication II	3	64	21	3	192
ENG 031	Essay Writing Review	1	12	12	3	36
ENG 100	Writing across the Curriculum	6	293	49	1	293
ENG 101	Reading in the Content Areas	5	238	48	1	238
ENG 112	English Composition II	1	44	44	3	132
ENG 232	Elements of Literature II	2	72	36	3	216
ENG 261	World Literature I	2	30	15	3	90
ENG 465	Selective Topics Creative Writing I	1	27	27	3	81
ENG 466	Selective Topics Creative Writing II	1	27	27	3	81
FDS 100	Freshman Development Seminar	5	269	54	1	269
FRE 131	Functional Elementary French I	1	26	26	3	78
JOU 101	Intro. Mass Communication	1	4	4	3	12
JOU 203	Basic Reporting & News Writing	1	4	4	4	16
PHI 231	Introduction to Epistemology & Logic	1	38	38	3	114

Table 5.9 St. Croix Campus Division of Humanities Undergraduate Course Enrollment and Credit Hours: Fall 1999
(Continued)

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
RAC 021	Reading in the Content Areas	5	238	48	1	238
SPA 122	Elementary Spanish II	1	18	18	4	72
SPA 131	Functional Elementary Spanish I	4	115	29	3	345
SPA 132	Functional Elementary Spanish II	2	54	27	3	162
SPA 221	Intermediate Spanish I	2	65	33	3	195
SPA 222	Intermediate Spanish II	1	37	37	3	111
SPE 115	Interpersonal Communication	3	102	34	3	306
SPE 116	Group Dynamics & Public Speaking	1	38	38	3	114
WAC 011	Writing Across the Curriculum	6	293	49	3	879
ALL		61	2,360	39		5,026

Table 5.10 St. Croix Campus Division of Nursing Education Undergraduate Course Enrollment and Credit Hours: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
NUR 131	Nursing Skill Acquisition	2	24	12	3	72
NUR 132	Introduction to the Nurse-Client System	2	24	12	4	96
NUR 242	NCS: Adult II	1	8	8	6	48
NUR 243	NCS: Childbearing Family	1	8	8	4	32
ALL		6	64	11		248

Table 5.11 St. Croix Campus Division of Science and Mathematics Undergraduate Course Enrollment and Credit Hours: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
BIO 141	General Biology I	1	32	32	4	128
BIO 151	Human Anatomy & Physiology I	2	54	27	4	216
BIO 240	Microbiology	1	22	22	4	88
CHE 111	Prin. Chem Life Science I	1	48	48	4	192
CHE 151	General Chemistry I	1	30	30	5	150
CHE 253	Organic Chemistry I	1	8	8	5	40
CSC 111	Use of Computers	1	44	44	1	44
CSC 117	Introduction to Programming I	1	33	33	4	132
CSC 118	Introduction to Programming II	1	29	29	4	116
CSC 119	Computer Graphic Applications	1	22	22	1	22
CSC 239	Scientific Computer Applications	1	30	30	2	60
CSC 241	Intro Computer Architecture & Digital Sys	1	42	42	4	168
CSC 242	Data Structures	1	24	24	4	96
CSC 332	Databases & Information Retrieval	1	8	8	3	24
CSC 397	Junior Computer Science Seminar I	1	4	4	0.5	2
CSC 420	Software Engineering	1	8	8	4	32
CSC 430	Knowledge Engineering & Expert	1	8	8	3	24
CSC 497	Systems Senior Science Seminar I	1	8	8	0.5	4
MAT 021	Math Skills - Pre-Algebra	4	254	64	4	1016
MAT 022	Math Skills-Beginning Algebra	5	166	33	4	664

Table 5.11 St. Croix Campus Division of Science and Mathematics Undergraduate Course Enrollment and Credit Hours: Fall 1999 (Continued)

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
MAT 140	College Algebra w/App	3	142	47	4	568
MAT 143	Pre-Calculus Algebra	1	62	62	4	248
MAT 231	Introduction to Statistics	1	32	32	4	128
MAT 232	Calculus for Business & Social Sciences	1	37	37	4	148
MAT 233	Discrete Mathematics	1	16	16	3	48
MAT 241	Intro. to Calculus & Analytic Geometry I	1	48	48	4	192
NSC 102	Foundations of Natural Science II	2	62	31	4	248
SCI 100	The Caribbean: The Natural World	4	159	40	3	477
SCI 200	Changes In The Natural World	2	21	11	3	63
ALL		44	1,453	33		5,338

Table 5.12 St. Croix Campus Division of Social Sciences Undergraduate Course Enrollment and Credit Hours: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
ECO 221	Introduction to Macro-Economics	1	63	63	3	189
ECO 222	Introduction to Micro-Economics	1	18	18	3	54
ECO 225	Money & Banking	1	8	8	3	24
HIS 181	World Civilizations I	2	116	58	3	348
HIS 182	World Civilizations II	1	50	50	3	150
HIS 320	History of the United States	1	35	35	3	105
HIS 342	History of the Virgin Islands	1	42	42	3	126
LAS 112	Criminal Law & Procedure	1	12	12	3	36
LAS 113	Litigation & Torts	1	18	18	3	54
PSA 221	Contemporary Corrections	1	16	16	3	48
PSA 232	Criminal Procedure & Evidence	1	22	22	3	66
PSY 120	General Psychology	2	99	50	3	297
PSY 122	Introductory Psychology	1	20	20	3	60
PSY 202	Life Span Development	1	27	27	3	81
PSY 321	Childhood and Adolescence	1	11	11	3	33
SOC 121	Introduction to Sociology	2	104	52	3	312
SSC 100	The Caribbean: Social Dimensions	2	143	72	3	429
ALL		21	804	38		2,412

Table 5.13 Average Undergraduate Class Enrollment By Division and Campus: Fall 1997-1999

	Fall	1997	Fall	1998	Fall 1999	
Division	Number of Classes	Average Class Size	Number of Classes	Average Class Size	Number of Classes	Average Class Size
St. Thomas						
Business Administration	49	20	52	18	48	35
Education	29	13	35	15	36	25
Humanities	60	21	128	15	137	27
Nursing Education	14	11	14	10	14	19
Science and Math	69	15	89	15	96	25
Social Sciences	41	19	43	16	39	34
All	262	17	361	15	370	26
St. Croix	 	 		 		
Business Administration	34	16	38	14	38	28
Education	7	12	21	17	24	29
Humanities	39	23	50	23	61	39
Nursing Education	3	17	4	13	6	11
Science and Math	30	17	32	18	44	33
Social Sciences	14	18	20	19	21	38
All	127	18	165	18	194	33

Table 5.14 St. Thomas Campus Graduate Course Enrollment and Credit Hours by Program: Fall 1999

		Number of	Total	Average	Credits per	Total Credit
Course	Course Description	Sections	Enrollment	Enrollment	Course	Hours
BUS 520	Administrative Theories and Practices	1	36	36	3	108
BUS 522	Financial Administration	1	15	15	3	45
BUS 525	Information Systems	1	12	12	3	36
BUS 527	Operations Management	1	24	24	3	72
BUS 528	Small Business Ownership	1	16	16	3	48
BUS 534	International Business	1	24	24	3	72
EDU 500	Basic Research Techniques	1	26	26	3	78
EDU 505	Anthropology and Sociology	1	22	22	3	66
	Foundations of American Educational					
EDITION	System Foundations of Guidance	1	20	9.0	0	0.0
EDU 506		1	-	20	3	60
EDU 530	Independent Study	1	12	12	3	36
EDU 542	Theories, Strategies and Teaching of Counseling	1	16	16	3	48
EDU 547	Fundamentals of School	1	18	18	3	54
LDCCII	Administration	1	10	10	o o	01
EDU 564	Education Teaching Learning Process	1	14	14	3	42
EDU 575	Strategies & Curriculum Design	1	8	8	3	24
EDU 582	Computer Application for Children	1	23	23	3	69
	with Learning Disabilities					0.0
EDU 583	Rehab Teaching & Human Performance	1	23	23	3	69
EDU 600	Thesis	1	22	22	6	132
	1110313	] 1 	22	22		102
PUA 500	Introduction to Public Administration	1	18	18	3	54
1 0 7 300	and Public Affairs	1	10	10	3	J4
PUA 521	Public Program Seminar	1	6	6	3	18
	_					
ALL		19	355	19		1,131

Table 5.15 St. Croix Campus Graduate Course Enrollment and Credit Hours by Program and Campus: Fall 1999

Course	Course Description	Number of Sections	Total Enrollment	Average Enrollment	Credits per Course	Total Credit Hours
BUS 520	Administrative Theories and Practices	1	14	14	3	42
BUS 522	Financial Administration	1	4	4	3	12
BUS 525	Information Systems	1	12	12	3	36
BUS 527	Operations Management	1	28	28	3	84
BUS 528	Small Business Ownership	1	16	16	3	48
BUS 534	International Business	1	22	22	3	66
ĺ						
EDU 500	Basic Research Techniques	1	23	23	3	69
EDU 504	Educational Psychology	1	17	17	3	51
EDU 530	Independent Study	1	5	5	3	15
EDU 544	Career Development Counseling	1	6	6	3	18
EDU 548	Organization and Govt. of American Education	1	11	11	3	33
EDU 552	Fundamentals of Developmental Reading & Instruction	1	6	6	3	18
EDU 561	Introduction to Computers in Education	1	14	14	3	42
EDU 600	Thesis	1	15	15	6	90
PUA 500	Intro. Public Admin & Public Affairs	1	7	7	3	21
PUA 521	Public Program Seminar	1	12	12	3	36
ALL		16	212	13		681

Table 5.16 UVI Total Credit Hours and Total Billing Hours By Campus, Level, and Residency: Fall 1998

Residency	TOTAL CREDIT HOURS		TOTAL BILLING HOURS	
	Undergraduate	Graduate	Undergraduate	Graduate
UVI	ĺ		ĺ	
Resident	21,736	933	22,367	954
Out-Of-State	583	25	598	25
International	2,066	25	2,080	25
Total	24,384	983	25,045	1,004
C4 Th				
St. Thomas				
Resident	13,570	548	13,865	563
Out-Of-State	564	22	576	22
International	1,820	25	1,834	25
Total	15,953	595	16,275	610
St. Croix				
Resident	8,166	385	8,502	391
Out-Of-State	19	3	22	3
International	246	-	246	-
Total	8,431	388	8,770	394

Table 5.17 UVI Total Credit Hours and Total Billing Hours By Campus, Level, and Residency: Spring 1999

	TOTAL CREDIT HOURS		TOTAL BILLING HOURS	
Residency	Undergraduate	Graduate	Undergraduate	Graduate
UVI				
Resident	21,857	1,052	22,695	1,070
Out-Of-State	485	6	510	6
International	2,036	15	2,057	15
Total	24,378	1,073	25,261	1,091
St. Thomas				
Resident	13,069	610	13,613	622
Out-Of-State	485	6	510	6
International	1,812	15	1,831	15
Total	15,366	631	15,954	643
St. Croix				
Resident	8,788	442	9,082	448
Out-Of-State	-	-	-	-
International	224	-	226	-
Total	9,012	442	9,308	448

Table 5.18 UVI Total Credit Hours and Total Billing Hours By Campus, Level, and Residency: Fall 1999

	TOTAL CREDIT HOURS		TOTAL BILLING HOURS	
Residency	Undergraduate	Graduate	Undergraduate	Graduate
UVI				
Resident	22,198	952	22,918	979
Out-Of-State	598	-	606	-
International	1,965	9	1,986	9
Total	24,761	961	25,510	988
	İ		i	
St. Thomas				
Resident	13,563	538	14,044	559
Out-Of-State	556	-	563	-
International	1,759	9	1,775	9
Total	15,877	547	16,381	568
St. Croix				
Resident	8,635	414	8,875	420
Out-Of-State	43	-	43	-
International	207	-	212	-
Total	8,884	414	9,129	420

Table 5.19 UVI Total Credit Hours and Total Billing Hours By Campus, Level, and Residency: Spring 2000

	TOTAL CREDIT HOURS		TOTAL BILLING HOURS	
Residency	Undergraduate	Graduate	Undergraduate	Graduate
UVI	İ		İ	
Resident	21,124	969	22,038	985
Out-Of-State	467	6	490	6
International	1,869	9	1,879	9
Total	23,460	984	24,406	1,000
St. Thomas	i i		j j	
Resident	12,300	546	12,865	559
Out-Of-State	460	-	483	-
International	1,659	9	1,669	9
Total	14,419	555	15,016	568
St. Croix	i i		i i	
Resident	8,824	423	9,173	426
Out-Of-State	7	6	7	6
International	210	-	210	-
Total	9,041	429	9,390	432